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AB501 -2 AP 12.330 [2.129111 | 26.250 38. 58
ABi02 -2/ N 7.560  |2.129111 | 16.100 23. 66
APBi03 -2 NI 7.010 2.129111 | 14.920 21.93
AB704 -2 AP 6. 520 2.129111 | 13.880 20. 40
APi05 22 NBi 8.000  |[2.129111 | 17.030 25. 03
ABj706 2= NBji 6.810 2.129111 | 14.500 21.31
NB507 -22 NBji 5.920 2.129111 | 12.600 18. 52
AP08 -2 YN 11.250  |2.129111 | 23.950 35. 20
APBH09 -2 N 5. 900 2.129111 | 12.560 18. 46
ABi10 -2/ INYij 5.410  |2.129111 | 11.520 16.93
ABi11 -2 N 6.910 2.129111 | 14.710 21. 62
APp712 -2 NP 6. 880 2.129111 | 14.650 21. 53
ABi13 -2 INij 3.640  |2.129111 | 7.750 11.39
ABr14 -2 YNl 3.670 2.129111 7.810 11.48
ABi15 -2 NP 3.600 2.129111 7.660 11.26
APi16 -2 NBi 4.290  |2.129111 | 9.130 13. 42
AB717 -2 PN 6. 810 2.129111 | 14.500 21.31
APB718 -2 NBi 8. 000 2.129111 | 17.030 25. 03
AB519 212 NBi7 6.520  [2.129111 [~ 13.880 20. 40
APB720 -2= NBi 11.250  |2.129111|  23.950 35. 20
NUiPA -22 N 5.970  |2.12911-| 12.710 18. 68
AFB22 -2 N 5.620  |2.129111 7 ~11.970 17.59
AB23 -2 N 5.580  |2.129111°. 11.880" 17. 46
ABi24 -2 N 10.260 |2.129111 | 21.840 32.10
APBi25 -2/ YNl 6. 230 2.129111 | 13.260 19. 49
ABji26 2= PN 5. 340 2.129111 | 11.370 16. 71
NBi27 -2)2 N 11.330  [2.129111 | 24.120 35. 45
APBi28 -2 AP 4. 290 2.129111 | 9.130 13. 42
AB529 -2 NBi 4.290  |2.129111 | 9.130 13. 42




ABi30 -2 N 3.790 2.129111 | 8.070 11.86

NURS -2 NBji 5. 600 2.129111 | 11.920 17.52

APi32 -2 NBji 3. 660 2.129111 7.790 11. 45

NBi33 -2 NBi 3.660  |2.129111 | 7.790 11.45

ABi34 22 N 3. 790 2.129111 | 8.070 11. 86

AP35 -2 YNl 5.220  |2.129111 | 11.110 16. 33

APBji36 2= NBji 5. 830 2.129111 | 12.410 18. 24

ABi37 -2 NBi 3. 640 2.129111 7. 750 11.39

INUIRE -2 PN 7.850 2.129111 | 16.710 24. 56
fif 7L [E]01 -12 fifi 5L B 11.170  |0.987346 | 11.030 22. 20
ik ek (8] 02 -2 fit 5L B 5.390 0.987346 | 5.320 10. 71
fi# 5 IA]03 -12 ik 5L A 6. 290 0.987346 | 6.210 12. 50
fif 5 7] 04 -12 ik 58 8] 10.120  |0.987346 | 9.990 20. 11
fifi 8 (8105 -12 ik 788 5.700 0.987346 | 5.630 11.33
fi# 58 A] 06 -12 ik 5K 8] 5. 740 0.987346 | 5.670 11.41
fif 5k [E]07 -12 ik 7&K 8] 6. 550 0.987346 | 6.470 13.02
it E] 08 -12 i 5k 1] 6. 850 0.987346 | 6.760 13.61
fif A1 09 -1 ik 78 8] 10.480  |0.987346 | 10.350 20. 83
fi# 5L E] 10 -1z 1k 5 18] 11.390  |0.987346 | 11.250 22. 64
fitt[E] 11 -1 fis 78 18] 7. 550 0.987346 | 7.450 15. 00
i e 18] 12 -12 fifs 78 18] 5.220 0.987346 | 5.150 10. 37
fifijek (8] 13 -2 ik 78 18] 5. 740 0.987346 | 5.670 11. 41
fi# i [A] 14 -1 i 75 8] 5. 580 0.987346 | 5.510 11. 09
fil k18] 15 -1B ik ek [E] 10.220  |0.987346 |- 10. 090 20. 31
FETR A 16 12 3R ] 6.850  |0.987346 | 6. 760 13. 61
f LA 17 -1 i 8 1] 6.850  [0.987346° | ~6:760 | 13.61
iR IE] 18 -1 fik yak ] 10.220 0. 987346.. _“10:090 F=20.31
fEEIE] 19 -1 i8R 5.640  |0.987346. | 5.570 11. 21
TR 20 -1 fifs 7oK ] 5.580  |0.987346 |-5.510 11. 09
fif ek IE] 21 -12 i 78 7] 5.060  |0.987346 | 5.000 10. 06
fif e 1] 22 -12 fifs 78 18] 7.320 0.987346 | 7.230 14.55
fifi 78t 18] 23 -1 ik 78 18] 11.220  |0.987346 | 11.080 22.30
fiti i (81 24 -1E it 5K B 10.620  |0.987346 | 10.490 21. 11
fiti 5 7] 25 -1 fis 78 18] 6. 850 0.987346 | 6.760 13.61
it 5 1A] 26 -1z fifs 78 18] 8.100 0.987346 | 8.000 16. 10
fifi B IA] 27 -1 fift 5L IE] 6. 550 0.987346 | 6.470 13. 02




fitt 5l [H] 28 -12 ik 585 18] 5. 740 0.987346 | 5.670 11. 41
ik 78 18] 29 -1 il 5[] 5.700 0.987346 | 5.630 11.33
il 5[] 30 -12 ik % 18] 10.260  |0.987346 | 10.130 20. 39
filt 5 A1 31 -12 itk ] 6. 230 0.987346 | 6.150 12. 38
il e (8] 32 -1z it 5L 8] 5. 340 0.987346 | 5.270 10. 61
i 5 1] 33 -1E ik ek 1B 11.520  |0.987346 | 11.370 22. 89
fifi 5 18] 34 -1 ik 5k 1B 4. 470 0.987346 | 4.410 8. 88
fi#t 5 (7] 35 -1 1k 5 18] 4. 630 0.987346 | 4.570 9.20
i 78X 18] 36 -12 i 5[] 4.090 0.987346 | 4.040 8.13
fit L IE] 37 -2 1 7 1B 6. 040 0.987346 | 5.960 12. 00
fift 5171 38 -1 ik e 18] 5. 630 0.987346 | 5.560 11.19
ik 5[] 39 -1 ik 78 18] 4.090 0.987346 | 4.040 8.13
fifi 5 A]40 -12 ik 78 18] 3. 950 0.987346 | 3.900 7.85
fifi Jak [E] 41 -1 A ek 5] 3.950  |0.987346 | 3.900 7.85
il 5ok 1] 42 -1 ik 78 ] 6.720  |0.987346 | 6.630 13.35
ik 58 18] 43 -1 it R[] 7.680 0.987346 | 7.580 15. 26
il 7] 44 -2 ik 5] 4.110 0.987346 | 4.060 8.17
{3 H] 45 -1 i 5[] 3.730 0.987346 | 3.680 7.41
fi# 3R E] 46 -12 ik 5[] 4. 060 0.987346 | 4.010 8.07
iR IE] 47 -1Z fids 78 1B 5.630 0.987346 | 5.560 11.19
fif i E] 48 -12 1k 58 1B 6. 040 0.987346 | 5.960 12. 00
it (8] 49 -12 i 78 18] 4. 090 0.987346 | 4.040 8.13
& JRIE50 -1 it Ja ] 4.440  [0.987346 |~ 4.380 8. 82
fifi 5L [B]51 -1 ik 58 18] 4. 820 0.987346 | 4.760 9. 58
1-101 12 et 102.050  [0. 264837 27.030 129. 08
1-102 )= s 86.090  [0.264837 | 22.800 108. 89
1-103 12 (Ec 100.840  |0.264837 | 26.710 127. 55
2-101 1E fF 100.840 [0. 264837 | 26:710 127. 55
2-102 12 = 86.090  [0.264837 | 22.800 108. 89
B 5 1B MENE 94.810  |0.264837 | 25.110 119. 92
1-201 2 ¥ 102.060 |0.264837 | 27.030 129. 09
1-202 2 = 86.090  |0.264837 | 22.800 108. 89
1-203 2 fFE 100.840 |0.264837 | 26.710 127. 55
2-201 22 fF= 100.840 |0.264837 | 26.710 127. 55
2-202 2 et 86.090  |0.264837 | 22.800 108. 89
2-203 2 = 102.060 |0.264837 | 27.030 129. 09




1-301 3E 1= 102.050 |0.264837 | 27.030 129. 08
1-302 3E £ 86.090  |0.264837 | 22.800 108. 89
1-303 3E s 100.840  [0.264837 | 26.710 127. 55
2-301 3F £ 100. 840 |0.264837 | 26.710 127. 55
2-302 3E 1k 86.090  [0.264837 | 22.800 108. 89
2-303 3E 5 102.060 |0.264837 | 27.030 129. 09
1-401 4z £ 102.050 |0.264837 | 27.030 129. 08
1-402 4 s 86.090  [0.264837 | 22.800 108. 89
1-403 4 1= 100.840  [0.264837 | 26.710 127. 55
2-401 = 12 100.840  |0.264837 | 26.710 127. 55
2-402 4z fE=c 86.090  [0.264837 | 22.800 108. 89
2-403 4 fE2 102.060 |0.264837 | 27.030 129. 09
1-501 5 1 102.050  [0.264837 | 27.030 129. 08
1-502 5/ s 86.090  [0.264837 | 22.800 108. 89
1-503 5/ & 100.840 |0.264837 | 26.710 127. 55
2-501 5% 1k 100.840 |0.264837 | 26.710 127. 55
2-502 512 s 86.090  |0.264837 | 22.800 108. 89
2-503 512 12 102.060 |0.264837 | 27.030 129. 09
1-601 6 e 102.050 |0.264837 | 27.030 129. 08
1-602 62 s 86.090  |0.264837 | 22.800 108. 89
1-603 62 s 100.840 [0.264837 | 26.710 | 127.55
2-601 6/% 152 100.840 0. 264837 26. 710 127. 55
2-602 6/% EE 86.090  |0.264837. | 22.800 108. 89
2-603 62 1k 102.060 |0.264837 | . 27.030 129. 09
1-701 U= % 102.050 [0-264837 | 27.030 129. 08
1-702 = e 86.090 |0.264837+ - 22.800 / | 108.89
1-703 = 1 100.840  [0.264837_ | 26. 710 127. 55
2-701 B fixc 100.840 |0.264837 | 26.710 127. 55
2-702 (= iz 86.090  |0.264837 | 22.800 108. 89
2-703 = 2 102.060 |0.264837 | 27.030 129. 09
1-801 82 1E2 102.050 |0.264837 | 27.030 129. 08
1-802 8% k& 86.090  |0.264837 | 22.800 108. 89
1-803 82 & 100.840 [0.264837 | 26.710 | 127.55
2-801 8% 1k 100.840 [0.264837 | 26.710 127. 55
2-802 82 1 86.090  |0.264837 | 22.800 108. 89
2-803 8 s 102.060 |0.264837 | 27.030 129. 09




1-901 9E £ 102.050 |0.264837 | 27.030 129. 08
1-902 9E FEE 86.090 |0.264837 | 22.800 108. 89
1-903 9z % 100.840 |0.264837 | 26.710 127.55
2-901 9 = 100.840 |0.264837 | 26.710 127. 55
2-902 9 e 86.090 |0.264837 | 22.800 108. 89
2-903 9E et 102.060 |0.264837 | 27.030 129. 09
1-1001 10/2 e 102.050 |0.264837 | 27.030 129. 08
1-1002 10/2 = 86.090 |0.264837 | 22.800 108. 89
1-1003 10/2 = 100.840 |0.264837 | 26.710 127.55
2-1001 102 = 100.840 |0.264837 | 26.710 127.55
2-1002 10/2 fE% 86.090 |0.264837 | 22.800 108. 89
2-1003 102 et 102.060 |0.264837 | 27.030 129. 09
1-1101° 112 e 102.050 |0.264837 | 27.030 129. 08
1-1102 112 ] 86.090 |0.264837 | 22.800 108. 89
1-1103 112 et 100.840 |0.264837 | 26.710 127. 55
2-1101 112 et 100.840 |0.264837 | 26.710 127. 55
2-1102 112 S 86.090 |0.264837 | 22.800 108. 89
2-1103 112 £ 102.060 |0.264837 | 27.030 129. 09
1-1201 122 % 102.050 [0.264837 | 27.030 129. 08
1-1202 122 £ 86.090 |0.264837 | 22.800 108. 89
1-1203 122 f£= 100.840 |0.264837 | 26.710 127. 55
2-1201 125 5% 100.840 |0.264837 | .26.710 127. 55
2-1202 122 it 86.090  |0.264837. |\ 22800 108. 89
2-1203 12/2 5% 102.060 |0. 264837 | 27.030-7|  129.09
1-1301 135 £ 102.050 |0. 264837 | 27.030 —|= 129.08
1-1302 132 fE 86.090  |0.264837 )" .22.800. | 108.89
1-1303 132 i 100.840 |0.264837.] 26.710 127. 55
2-1301 138 % 100.840  |0. 264837 | 26.710 127. 55
2-1302 132 s 86.090 |0.264837 | 22.800 108. 89
2-1303 13 s 102.060 |0.264837 | 27.030 129. 09
1-1401 142 e 102.050 |0.264837 | 27.030 129. 08
1-1402 142 £ 86.090 |0.264837 | 22.800 108. 89
1-1403 142 fEct 100.840 |0.264837 | 26.710 127. 55
2-1401 142 = 100.840 |0.264837 | 26.710 127. 55
2-1402 142 e 86.090 |0.264837 | 22.800 108. 89
2-1403 142 = 102.060 |0.264837 | 27.030 129. 09




1-1501 15/2 1% 102.050  [0.264837 | 27.030 129. 08
1-1502 15/2 £ 86.090  |0.264837 | 22.800 108. 89
1-1503 15/2 st 100.840  [0.264837 | 26.710 127. 55
2-1501 15/2 st 100.840 |0.264837 | 26.710 127. 55
2-1502 15/% % 86.090  |0.264837 | 22.800 108. 89
2-1503 15/2 st 102.060  |0.264837 | 27.030 129. 09
1-1601 16/2 et 102.050 |0.264837 | 27.030 129. 08
1-1602 162 Gt 86.090  [0.264837 | 22.800 108. 89
1-1603 16/2 = 100.840  [0.264837 | 26.710 127. 55
2-1601 16/2 5 100.840  [0.264837 | 26.710 127. 55
2-1602 16/2 st 86.090  |0.264837 | 22.800 108. 89
2-1603 16/2 et 102.060 |0.264837 | 27.030 129. 09
1-1701 172 st 102.050  [0.264837 | 27.030 129. 08
1-1702 172 st 86.090  |0.264837 | 22.800 108. 89
1-1703 172 s 100. 840  [0.264837 | 26.710 127. 55
2-1701 172 st 100. 840  [0.264837 | 26.710 127. 55
2-1702 172 % 86.090  |0.264837 | 22.800 108. 89
2-1703 172 st 102.060  [0.264837 | 27.030 129. 09
1-1801 18/2 % 102.050  [0.264837 | 27.030 129. 08
1-1802 18/2 st 86.090  |0.264837 | 22.800 108. 89
1-1803 18/2 ! 100.840  [0.264837 | 26.710 127.55
2-1801 18/2 ! 100. 840 /|0:264837 | 26.710 127. 55
2-1802 18/2 £ 86. 090/ -[0. 264837 | ~22..800 108. 89
2-1803 182 % 102. 060 ~ 0. 264837 | 27.030 129. 09
1-1901 192 % 102.050 . {0:264837 .| “27. 030 129. 08
1-1902 19/ st 86.090  [0.264837.| 22.800 108. 89
1-1903 19 5% 100. 840  |0.264837 | 26.710 127. 55
2-1901 19 et 100.840  [0.264837 | 26.710 127. 55
2-1902 19/ et 86.090  |0.264837 | 22.800 108. 89
2-1903 19 et 102.060 [0.264837 | 27.030 129. 09
1-2001 20/ £ 102.050  [0.264837 | 27.030 129. 08
1-2002 202 st 86.090  |0.264837 | 22.800 108. 89
1-2003 20/= 2 100.840 |0.264837 | 26.710 127. 55
2-2001 202 % 100.840  [0.264837 | 26.710 127. 55
2-2002 20 % 86.090  |0.264837 | 22.800 108. 89
2-2003 20 % 102.060  [0.264837 | 27.030 129. 09




1-2101 212 s 102.050 |0.264837 | 27.030 129. 08
1-2102 212 s 86.090 [0.264837 | 22.800 108. 89
1-2103 212 = 100.840  [0.264837 | 26.710 127. 55
2-2101 21 EE 100.840  |0.264837 | 26.710 127. 55
2-2102 212 s 86.090  |0.264837 | 22.800 108. 89
2-2103 212 fE 102.060 [0.264837 | 27.030 129. 09
1-2201 22/2 s 102.050 |0. 264837 | 27.030 129. 08
1-2202 22/2 1 86.090  |0.264837 | 22.800 108. 89
1-2203 228 s 100.840 |0.264837 | 26.710 127. 55
2-2201 22)7 (EXES 100.840 [0.264837 | 26.710 127. 55
2-2202 22/2 fE2E 86.090  |0.264837 | 22.800 108. 89
2-2203 222 s 102.060 |0.264837 | 27.030 129. 09
1-2301 232 2 102.050 |0.264837 | 27.030 129. 08
1-2302 232 1 86.090  |0.264837 | 22.800 108. 89
1-2303 232 = 100.840 |0.264837 | 26.710 127. 55
2-2301 232 1 100.840 |0.264837 | 26.710 127. 55
2-2302 232 % 86.090  |0.264837 | 22.800 108. 89
2-2303 232 fE2 102.060 |0.264837 | 27.030 129. 09
1-2401 24)2 s 102.050 |0.264837 | 27.030 129. 08
1-2402 242 fE 86.090  |0.264837 | 22.800 108. 89
1-2403 24)2 & 100.840 |0.264837 | 26.710 127. 55
2-2401 242 12 100.840 |0.264837 | 26.710 /|, 127.55
2-2402 242 fEE 86.090  |0.264837 | 227800 |- 108.89
2-2403 247 = 102.060 | 0. 264837 {7-27. 030 129. 09
1-2501 252 e 102.050 |0.264837 | 27.030 « | <129.08
1-2502 25/2 % 86.090 |0.264837 |\ 22.800 7|~ 108.89
1-2503 2512 fE 100.840 |0.264837 | 26.710°|" 127.55
2-2501 252 fE 100.840 |0.264837 | 26.710 127. 55
2-2502 252 fE 86.090  |0.264837 | 22.800 108. 89
2-2503 252 e 102.060 |0.264837 | 27.030 129. 09
1-2601 262 1 102.050 |0.264837 | 27.030 129. 08
1-2602 262 fE= 86.090  [0.264837 | 22.800 108. 89
1-2603 26)2 e 100.840 |0.264837 | 26.710 127. 55
2-2601 262 1 100.840 |0.264837 | 26.710 127. 55
2-2602 262 fE 86.090 |0.264837 | 22.800 108. 89
2-2603 26/ EE 102.060 |0.264837 | 27.030 129. 09
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